ASSEMBLY

INSTRUCTIONS

Allen Wrench




CHECK
BEFORE STARTING

Are you missing anything?

Double-check all parts, hardware and
accessories listed on Page 6 are
accounted for.

Should we send any replacements?

Are there any irregularities or flaws in the
parts? We can send replacements!

Check out our Quick Tips!

We recommend reviewing the pre-assembly
handouts. Even experts need a refresher now and
then!

Prep Time!

Please review the assembly instructions and all
diagrams prior to assembling. Arrange parts as
recommended on Page 7 and group identical
hardware together to make assembling easier.

2112



PRE ASSEMBLY
INTRODUCTION

We understand building ready-to-assemble furniture can be a challenging

experience for some. To help avoid confusion, we have provided some helpful

tips that may speed up the process.

5%0
O ----

O —- A
L | 1
o
=7

i
s ]

Teamwork

ALWAYS have at least two people
to help with transporting and
assembling the product to avoid
potential injury and/or damage.

Suitable Location

Assembling near the area of the
intended location is highly
recommended.

Sufficient Space

Make sure you have enough
space to move around during the
assembly.

Avoid Scratches

Use cardboard, blankets or a
carpeted area while assembling
furniture to prevent scratches.

Flat Surface

Make sure the furniture rests on
a flat and level surface with each
leg evenly touching the floor.

3/12



4712



BED

— 2
o
n
()
Q © <
~ © (V]
o
o)
‘@ 2 ‘@
S




BED

Bolt 1/4" x 1/2"

Bolt 1/4" x 2"

@ 1pc
-

Allen Wrench M5

@ 4pcs
Q

Bolt 1/4" x 1"

Bolt M8 x 1/2"

@
1
///////////@

Bolt 1/4" x 1-3/8"

@ 1pc
-

Allen Wrench M4

6/12



ASSEMBLY INSTRUCTIONS

Part@ x1pc
Part @ x1pc
Part@ x1pc

Hardware@ x8pcs
Hardware@ x1pc

Align HB legs (#3,4) to the headboard (#1),

then secure by using bolts (#A).

Align rails (#5,6) to the headboard,
then secure by using bolts (#A).

Partx1pc

Hardware@ x4pcs
Hardware @ x1pc

;N (mm~ = Io|°
MR H#A °]
/ \\#F
SN
N
N
~ ~
/
/
ol

—

|

#A

-~

\

\
[
l

] /
/

e

/

7112


JustinW
Typewritten Text
Align HB legs (#3,4) to the headboard (#1), then secure by using bolts (#A).

JustinW
Rectangle

JustinW
Typewritten Text
Align rails (#5,6) to the headboard, then secure by using bolts (#A).

JustinW
Rectangle


ASSEMBLY INSTRUCTIONS

Part@ x1pc
Part@ x1pc
Part@ x1pc

Hardware@ x4pcs
Hardware @ x1pc

Align rails (#5,6) to the footboard (#2), then
secure by using bolts (#A).

Connect therails together.

8/12



JustinW
Typewritten Text
Align rails (#5,6) to the footboard (#2), then secure by using bolts (#A).

JustinW
Rectangle

JustinW
Typewritten Text
Connect the rails together.

JustinW
Rectangle


ASSEMBLY INSTRUCTIONS

5

Align support rails (#8) to the rails, then secure by _ = #F
using bolts (#A).

Part x2pcs
Hardwarx4pcs

Hardware @ x1pc

6
Partx'lpc

Hardware x2pcs center rails (#7) and secure by using

Hardware @ x1pc

Align center rail (#7) to the support
rails, then unfold support leg on the

bolts (#C).

9/12


JustinW
Typewritten Text
Align center rail (#7) to the support rails, then unfold support leg on the center rails (#7) and secure by using bolts (#C).

JustinW
Rectangle

JustinW
Typewritten Text
Align support rails (#8) to the rails, then secure by using bolts (#A).

JustinW
Rectangle


ASSEMBLY INSTRUCTIONS

Secure center rail (#7) to support rails
7 (#8) by using bolts (#A).

Part x1pc
Hardware x2pcs

Hardware @ x1pc

Part ><1pc
Hardware@ x1pc

Hardware@ x4pcs

Hardware @ X1/

Align support rail (#9) to the bed,
then secure by using the following
bolts (#D,E) as shown in the
diagram.

10/ 12


JustinW
Typewritten Text
Secure center rail (#7) to support rails (#8) by using bolts (#A).

JustinW
Rectangle

JustinW
Typewritten Text
Align support rail (#9) to the bed, then secure by using the following bolts (#D,E) as shown in the diagram.

JustinW
Rectangle


ASSEMBLY INSTRUCTIONS

Align support legs (#10) to the support rail
9 (#9), then secure by using bolts (#B).

Part x2pcs
Hardware x4pcs

Hardware @ x1pc

Part @ x12pcs

Align and hook the slats (#11) to the
rails on the bed.



JustinW
Typewritten Text
Align support legs (#10) to the support rail (#9), then secure by using bolts (#B).

JustinW
Rectangle

JustinW
Typewritten Text
Align and hook the slats (#11) to the rails on the bed.

JustinW
Rectangle


ASSEMBLY INSTRUCTIONS



JustinW
Typewritten Text
Align rail top (#12) to the rail, then secure by using bolts (#A).

JustinW
Rectangle




